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Q.1. READ THE FOLLOWING QUESTIONS. THERE ARE TWO STATEMENTS MARKED
AS ASSERTION(A) AND REASON ( R) .

You have to choose the correct options.

i)

iii)

(A) Poverty must be seen in terms of the poor have to live only in poor
surroundings with other poor people.
( R) Social exclusion is one of the basic reasons for poverty in India.

a) Ais correct but R is wrong.

b) R is correct but A is wrong.

c) Both A and R are true , but R is not a correct explanation to A
d) Both A and R are true, and R is a correct explanation to A.

(A) Vulnerability describes the greater probability of poor being more adversely
affected than others , especially at bad times.

( R) Widow, children and handicapped are certain individuals who are
vulnerable to poverty in India.

a) A is correct but R is wrong.

b) Both A and R are true , but R is not a correct explanation to A
c) Both A and R are true, and R is a correct explanation to A.

d) R is correct but A is wrong.

(A) The amount of poverty line for rural area is less than the amount for urban
areas.

(R) The urban people actually require more calories than the people of the rural
areas.

a) A is correct but R is wrong.

b) Both A and R are true , but R is not a correct explanation to A
c) Both A and R are true, and R is a correct explanation to A.

d) R is correct but A is wrong.
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